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Question 1

There is a common pattern across two datatypes

mapList :: (a -> b) -> List a -> List b -- List
mapTree :: (a -> b) -> Tree a -> Tree b -- Tree

Lets make a class for it! What type do w

class Mappable t where

map :: ______________________________________

instance Mappable List where

map ____ ____ = ______________________________________

map ____ ____ = ______________________________________

instance Mappable Tree where

map ____ ____ = ______________________________________

map ____ ____ = ______________________________________

Question 2

Recall the Monad instance for [a]

How can you use >>= and return to implement the map function for lists?

map :: (a -> b) -> [a] -> [b]
map f xs = do

______________________________________

______________________________________
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